HUWT'MHUNH XAPWIIAAHBI CYJIKIIT YHDJIIX
JJIOBUHUM ACYYJIT A (LSNS-6M)
I'OP BYJI: Duja Tanbl O0JIOH XaJIMBIH TaJIbIH TOPOJI CajlaH XamMaapHa.

1. Tana capaaa yyas3aar oM Yy 3¢B3J X0J1000 0apbaar X3/13H ax AYY, TOpe.l
CAJlaHTMiH XYH Oaijaar B3?

OrT TaHIl X0€p 3-4 5-8 96aTyyHssc
Oanxryi HATXOH ikl
0 1 2 3 4 5

2.Ta ax ayy, TepeJ CaJaHIMiHXaa X3[3H XYHTIH XYBHIH acyyajaa WI3H
JAJIAHTYH SPWILAK Yaaaar B3?

OrT raHIl X0€p 3—-4 5-8 906aTtyyHdsc
Oanxryi HATXOH ikl
0 1 2 3 4 5

3. Tycaamk Xyc3X3 HPIX Oip ZOTHBI X3/13H TOPOJI cajlaH 0aiiHa B3?

OrT TaHIl X0€p 3—-4 5-8 906aTtyyHdsc
Oaiixryi HATX3H ikl
0 1 2 3 4 5

HAWM3 HOXO/I: TanTaii 33prammdd, olp ax TepHeITyll Haif3s HeXej TaHb
XxamMaapHa.

4. Ta capaaa yyja3ax M yy 3CB3J X0/1000 0Oapbaar X313H Hali3 HOXOATIH BI?

OrT raHIl X0€p 3-4 5-8 96aTyyHssc
Oaiixryi HATX3H ikl

0 1 2 3 4 5



S. Haii3 HOX/100¢060 X3ATIi Hb XYBMHH acyy/ajiaa spuxX XdMKIIHHUH JOTHO
Oaiinar B3?

OrT raHIl X0€p 3-4 5-8 906aTyyHssc
Oaiixryi HATX3H ikl
0 1 2 3 4 5

6. TycaamMak Xyc3xd3Q Up3X Oip Z0THBI X3/3H HaW3 HOXe] Oaiaar B3?

OrT raHIl X0€p 3-4 5-8 96aTyyHssc
Oaiixryit HATX3H ikl

0 1 2 3 4 5



